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Math-ENGLISH-Prepl-TR1-T-W9 (1)

E B
In the opposite figure: 659 D
find the value of X, then prove that: AC // BE .
alX 157 ¢

[y
[}

2- In the opposite figure:
find the value of X
3- If the two straight lines m,, m; are parallel and the straight | \ 3 \
line n is a transversal, then find the value of X ) (3“5°°\ - ]
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4- In the opposite figure:
find the value of X
, X
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5- In the opposite figure:
find the value of X
L X/
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Math-ENGLISH-Prepl-TR1-T-W9 (2)
E B
1- In the opposite figure: e D
find the value of X, then prove that: AC // BE .
X 1259

In the opposite figure:
find the value of X
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line n is a transversal, then find the value of X

In the opposite figure:
find the value of X

B
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In the opposite figure:
find the value of X
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If the two straight lines m, m, are parallel and the straight \
}11 *+
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Math-ENGLISH-Prepl-TR1-T-W9 (3)
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1- In the opposite figure:
find the value of X .
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2- In the opposite figure:
find the value of X

3- If the two straight lines m,, m, are parallel and the straight “\
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line n is a transversal, then find the value of X N 5
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4- In the opposite figure:
find the value of X

5- In the opposite figure:
find the value of X
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